2 obs| 9 ST | 10 AmM | 11 Bw | 12 Chn| 13 D] 14 Eso| 15 F S
S t n vt np Ccr SO Sl
16 10 dle | 17 11 dc1| 18 12 dc2 | 19 13 de3| 20 14 dcd | 21 15 nak | 22 16 syn| 23 17 etb
24 18 can| 2519 em | 26 1A sub| 27 1B esc| 28 1C fs 29 1D ¢gs 30 1E rs 31 1F us
3220 sp | 3321 ! | 3422 " | 3523 # | 3624 $ | 3725 % | 3826 & | 39 27 °
40 28 F 4129 ) | 422A * | 432B + | 442C 5 | 452D - | 46 2E . | 47 2F |/
4830 0 | 4931 1 | 5032 2 | 5133 3 | 5234 4 | 533 5 | 5436 6 | 5537 7
5638 8 | 5739 9 | 58 3A 5038 ; | 603C < | 613D = | 623E > | 63 3F ?
6440 @ | 6541 A | 66 42 B | 6743 C | 68 44 D | 69 45 E | 70 46 F | 71 47 G
7248 H | 7349 | | 744A J | 754B K | 764C L | 774D M | 78 4E N | 79 4F O
8050 P | 8151 Q | 8252 R | 8353 S | 84 54 T | 8555 U | 8656 V | 87 57 W
8858 X | 8959 Y | 905A Z | 9158 [ | 925C \ | 935D ] | 94 5E 95 5F
96 60 9761 a | 9862 b | 9963 ¢ |100 64 d | 101 65 e |102 66 f |103 67 g
10468 h (10569 i [106 6A j |1076B k |1086C | [109 6D m |110 6E n |111 6F o
11270 p [11371 q |[114 72 r |11573 s |116 74 t |[117 75 u |118 76 v [119 77 w
12078 x [12179 y [1227A z |123 7B { |1247C | [1257D } |126 7E ~ |127 7F del
Bit IRQ PRIORITY
C OPERATOR ASSOCIATIVITY 3 1? Tires A|0-127 /8 |10.0.00 10.FFFFFF /8
- Ol ->- , eof| 8 1 Keyboard B | 128-191 /16 | 172.16.0.0 172.31.FFFF /12
T g+ & (ype) sizeol| 8 2 Cascade$-15 | C | 192-223 /24 | 192.168.0.0 192.168.FFFF /16
~ .. MunichUnix O |8 § [{.5°%, |D|224-239/8 |1 RFCI918 | Multi-
- s<_z>_www.berklix.com | 16 10 [CD/Ether] | E1240-247 /: |1 Local L cast 5
- < <= > >= 16 11 SCS|] DMA P 0x3FF - V.U U.
L=z 1= =g 16 12 [PS2 Mousel 55 remracpy | < 0L LS UXS. -0.FFFFFF
~ & (Bitwise And) E E 16 13 FloatPoint U (Refresh) | 12 t9 10 bit | B: 169.254.0.0 /16
~ | (Bitwise On) 16 15 DiscIDE1 | 8 2 Floppy g 1C:192.02.0 ~ /24
&8& (Boolean And) r 8 3 Seriall Com2| 8 3 C=8=4=0 -192.0.2.FF
S|l (Boolean O ] 8 4 Serial0Coml | 16 4 Cascade | D=Q9=5=1** |D:224.0.0.0 /4
- (Boolean Or) g g gilraleletZ 16 5 SCSI E—A—B_0** - 239.FEFFFF
-2 ] & & Lloppy ' |16 6 =A=0=c " |E:240.0.00 /4
Lt Cha p/t=er/°3= (&=K8=(FI‘=P<:9=/5>3>»= arale 16 7 F=B=7=3 - 255.FF.FF.FF
g , < .




